http://www.mbstudent.com/maths-examples.html

Indefinite integral example

Calculate indefinite integral of function below

2 2
x3-e* —3-fx2-ex ~dx

fxz.exz.dx:{m:xz v1=ex2}
dul=2-x dvl =e*

x3-ex2—3-(x2-ex2—j2-x-ex2-dx)
x3-ex2—3-(x2-ex2—2-fx-e"2-dx)

fX'exz'de{u2=x v2=ex22}
du2 =1 dv2 =¢e*

x3-ex2—3-<x2-ex2—2-(x-ex2—Jexz-dx>>

xs.exz_3.(x2.ex2_2.(x.ex2_exz+Cl))

x3 e =3 (k2 e =2 x-e +2-e-2-())

2

—3-x2- e +6-x-e —6-eX +6-C,

3. x?

x3-e* —3-x2-eX +6-x-e5 —6-e¥ +C

We will check correctness of our calculation by calculating function’s derivative

t)=x3-e* —3-x2- e +6-x-e¥ —6-e¥ +C

2 2

d
at(x)=3-x2-ex2+x3-ex —6-x-e¥ =3 -x2-eX 46X +6-xe¥ —6-eF

d 2
—_ = 3.pX%
I tx)=x"-¢
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